
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

3rd Month, 3rd Week, 3rd Day Exercise 7.2 Q # (1, 2)

Q.1. Choose the correct options.   (1 x 3 = 3)  ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) Which of the following is the linear equation?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏqqqq----ŠŠŠŠggggYYYY))))zzzzZZZZ]]]]ìììì????

(a) 3a + 7 = 19 (b) (c) 3x
2
 = 60 (d) All of these tÓx

(ii) Which of the following is not linear equation?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏqqqq----ŠŠŠŠggggYYYY))))zzzzZZZZ]]]]7777ìììì????

(a) 7x + 12 = 4x + 27 (b) 18x + 7 = 54 (c) ax + b = c (d) x D 9 = 35

(iii) Identify the linear equation: qqqq----ŠŠŠŠggggYYYY))))zzzzZZZZ]]]]ÅÅÅÅ¶¶¶¶KKKK0000++++„„„„™™™™,,,,::::

(a) (b) 4x + 5 = 8 (c) 3x
2
 = 80 (d) None of these

Zy~ÐÃð7

//// Answer the following questions: ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssss

Q.2. Contruct the following linear equations.     (2x2=4)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐqqqq----ŠŠŠŠggggYYYY))))zzzzZZZZ]]]]¯̄̄̄NNNNXXXX

(i) When a number y is decreased by 7 the result is 14.

qqqqÝÝÝÝƒƒƒƒ@@@@****ììììXXXX 14 ÅÅÅÅ¶¶¶¶™™™™ääääÐÐÐÐ 7 ~~~~ÐÐÐÐ y °°°°ŠŠŠŠ

(ii) The sum of two consecutive numbers is 29.

ììììXXXX 29 ŠŠŠŠzzzzÚÚÚÚZZZZ°°°°ZZZZŠŠŠŠ»»»»ùùùù····

Q.3. Identify the linear equations. (1x3=3) qqqq----ŠŠŠŠggggYYYY))))zzzzZZZZÂÂÂÂVVVVÅÅÅÅÙÙÙÙ||||####™™™™,,,,XXXX

(i)

(ii) 18x + 7 = 54

(iii)
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